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= 1,337,727 1,333,015 4,712
= 8,590,782 2,789,937 5,800,845
620,960 640,869 219,909
Dose o ax = 9,928 9,928 0
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201 LEt2AH| 450 500 A50
03 EArEZHI 450 500 A50
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AR X R
DR Y A
el =oIcty NSH (ol @ e)
SN -BH-S(B) - MRAY - BES O &k o 2|y HlmE2
HEN A2 ST 1,800 2,000 2200
01 YB3 1,800 2,000 £200
10 #AAHIZA2 1,800 2,000 £200
OSHSBFHCH AHEM(MESIBOIBHAZ2Y) 2 1,800,002 1,800 2,000 £200
79,896 78,071 1,825
2 9,928 9,928 0
REZAEH 2
= 6,900 6,900 0
2 63,068 61,243 1,825
5,200 5,000 200
Zcw3a 2yl = 1,000 1,000 0
2 4,200 4,000 200
01 YB3 200 0 200
10 #AAHIZAS 200 0 200
OZCS®I 2HX DKEH 0| 20,0008 * 521 * 23] 200 0 200
23,942 22,219 1,723
2 1,276 1,276 0
HEZA2Y X8
= 5,900 5,900 0
2 16,766 15,043 1,723
23,942 22,219 1,723
2 1,276 1,276 0
307 2120
= 5,900 5,900 0
2 16,766 15,043 1,723
CEIEINEES 23,942 22,219 1,723
OXAZ AR o 2 2 2,500 « 1,7102! 4,275 2,552 1,723
= 1,276 1,276 0
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SN HM . ER(BH) - NTAY - B2 03] & o I & o HRS2

o 2,999 1,276 1,723

20,563 17,305 3,258

AHSAZCIUOIZ LB = = 8,652 8,652 0

[in 11,911 8,653 3,258

20,563 17,305 3,258

101 el = 8,652 8,652 0

= 11,911 8,653 3,258

10 JIZHZ22AsSEF 20,563 17,305 3,258

OX&SAF 0B ZCIUIOIE 1248 (XHA) 543,000& = 1! = 63 3,258 0 3,258

AESAMESKE 30, 191 33,547 A3,356

201 et 14,131 15,702 A1,571

01 At=22teldl 6,579 7,310 AT31

Olget==2Hl] 4,269 5,000 AT31

OMEZAN 2T o A28 IY(MILT OB L4E2Y) % 4,260,000 4,269 5,000 AT31

02 33294 7,552 8,392 A840

O[A&&HI=XIdl] 2,310 3,150 A840

O0l==22x2 RALI (MY S MO AE2ZH) 3 & 2,310,000& 2,310 3,150 A840

202 OfHl 1,728 1,920 A192

01 3UWobl 1,728 1,920 2192

OXFRIZAME 22 OfHl (ME 2 E 20| 0| 4B L) 23 1,728,000 1,728 1,920 A192

301 EE A3 6,142 6,825 A683

10 HAAHIEA S 6,142 6,825 2683

OXEASA MOILE Z#A(MESH 0|0 AHE 2-H) 38 1,417,000 1,417 2,100 A 683

307 elztol s 8,190 9,100 A910
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02 QItF&AEX 6,300 7,000 AT700

OAMES AXEDI(ME A A2 o) 23 6,300,000 6,300 7,000 AT700

04 QIZFEHAIE X 1,890 2,100 A210

OUEXSAA SHAXJ(MERSHEHO|E Z2 & 1,890,000& 1,890 2,100 A210

10,484,341 10,879,336 A 394,995

- _ = 8,350,072 8,667,501 A317,429
HASE MEx2e

L= 1,050,217 1,085,698 A 35,481

= 1,084,052 1,126,137 242,085

1,453,010 1,449,583 3,427

= = 1,138,540 1,138,703 A 163

NS

= 148,595 144,418 4,177

= 165,875 166,462 AB87

166,200 166,433 N233

_ = 116,340 116,503 A 163
NEPERIZEL

= 16,620 16,643 A28

= 33,240 33,287 NAT

166,200 166,433 A233

= 116,340 116,503 A 163
307 212H0I |

= 16,620 16,643 A28

= 33,240 33,287 NAT

02 QItFAEX 166,200 166,433 A233

Oxg=al|22d| 166,200,000& * 1JH 24 166,200 166,433 A233

= 116,340 116,503 A 163

= 16,620 16,643 A28
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NEHESAK SSLYX 2
= 4,200 0 4,200
4,200 0 4,200
307 2120l &
= 4,200 0 4,200
02 QIAFMPE 4,200 0 4,200
ONBHEZAX SHag 70,0002 * 591 » 128 4,200 0 4,200
= 4,200 0 4,200
NEREELE] 4,860 5,400 540
201 sregi| 864 960 A9
01 At2elyl 864 960 A96
olaztl] 864 960 ~96
OXEAIY 27 SZHI (MBS R MO0l A= 2o 3 864,0002! 864 960 ~96
202 o1l 1,296 1,440 A144
01 2UH0ibI 1,296 1,440 A4
ORHEAR Z=ZI 01l (MZ S5 20/ 8 0f AR 2t ) 2 1,206,0002 1,296 1,440 A144
301 QEHEAS 1,700 2,000 300
10 AR A 1,700 2,000 300
ORNEBEO AMSA TADS(ME ST OO 2LH) 23 1,700,0002 1,700 2,000 A300
9,031,331 9,429,753 398,422
. = 7,211,532 7,508,798 ~317,266
HASMEBX S
= 901,622 941,280 39,658
2 918,177 959,675 A41,498
82 6,600,998 6,772,360 AT1,362
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SN B GA(S) - HRAY - H @y g &k =2
= 5,280,798 5,417,888 A137,090
[ 660, 100 677,236 A17,136
= 660, 100 677,236 A17,136
6,600,998 6,772,360 A171,362
=2 5,280,798 5,417,888 A137,090
< 660, 100 677,236 A17,136
= 660, 100 677,236 A17,136
6,600,998 6,772,360 A171,362
144,758.7282 = 3,800Q1 » 12& 6,600,998 6,772,360 A171,362
= 5,280,798 5,417,888 A 137,090
< 660, 100 677,236 A17,136
= 660, 100 677,236 A17,136
4,150 17,550 A 13,400
- o = 3,320 14,040 210,720
B - (= 415 1,755 A1,340
= 415 1,755 A1,340
4,150 17,550 A 13,400
= 3,320 14,040 A10,720
[ 415 1,755 A1,340
= 415 1,755 A1,340
RSN 4,150 17,550 A 13,400
AHsAIAXA 2,766.6652 * 500Q! * 32 4,150 17,550 A 13,400
= 3,320 14,040 A10,720
[ 415 1,755 A1,340
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x
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2
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415

1,755

21,340

ol

Mo W

60,000
48,000
6,000
6,000

66,830
53,464
6,683
6,683

26,830
5,464
A 683
683

MW

60,000
48,000
6,000
6,000

66,830
53,464
6,683
6,683

6,830
A5,464
A 683
A 683

32,051.282& = 156Q1 » 128

H Hn

60,000
60,000
48,000
6,000
6,000

66,830
66,830
53,464
6,683
6,683

A6,830
26,830
AN5,464
A 683
A 683

—

Mo W

,345,400
,076,320

134,540
134,540

,474,893
,179,915

147,489
147,489

A 129,493
A 103,595
A12,949
A12,949

—

Ao

,345,400
,076,320

134,540
134,540

,474,893
,179,915

147,489
147,489

A 129,493
A 103,595
A12,949
A12,949

29,504.385& * 3,800 » 12&

,345,400
,345,400

,474,893
,474,893

A129,493
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Folde
HAsSS 4232
ISENS~ L= PNk (2 &)
SA - ZH - S2A(AH) - NFAIE - # A IEH e
= 1,076,320 1,179,915 A103,595
& 134,540 147,489 A 12,949
o 134,540 147,489 A 12,949
293,270 313,270 20,000
= 234,616 250,616 16,000
=30
= 29,327 31,327 A2,000
o 29,327 31,327 A 2,000
293,270 313,270 20,000
= 234,616 250,616 16,000
301 LEEH S
= 29,327 31,327 A2,000
o 29,327 31,327 A 2,000
01 At2l2dH 0= 293,270 313,270 20,000
(OIPIE o= PNINE=10 146,6353 = 5002! * 4 293,270 313,270 20,000
= 234,616 250,616 216,000
= 29,327 31,327 A2,000
i 29,327 31,327 A2,000
576,600 632,097 AB5,497
_ = 461,280 505,677 244,397
FHE=s0(E=2)
& 57,660 63,210 5,550
i 57,660 63,210 Ab,550
576,600 632,097 AB5,497
= 461,280 505,677 A44,397
307 erztol s = 57,660 63,210 25,550
i 57,660
63,210 25,550
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2 2
b b 12
Jin Jin 0z
03 Ol

|t

—

ra

1
o
o

SR (2H) - MRAY - &

(]

H

-/

0l
0

320,333 = 150! * 12&

H Hn

576,600
576,600
461,280
57,660
57,660

632,097
632,097
505,677
63,210
63,210

AB5,497
ADB5,497
A44,397
A5,550
25,550

16,555

18,395

A 1,840

7,105

7,895

AT790

ZE 1,224,000

Z& 741,000

4,104
1,224
1,224
3,001
741
741

4,560
1,680
1,680
3,335
1,075
1,075

A 456
A 456
A 456
A 334
A334
A334

9,450

10,500

A 1,050

Z & 8,950,000

9,450
8,950

10,500
10,000

A 1,050
A 1,050

rz

HH oA W

2,102,691
1,316,225
45,728
239,660
501,078

2,041,950
1,314,464
47,479
237,917
442,090

60,741
1,761
A1,751
1,743
58,988

HI W)

1,755,472
1,070,289
45,728

1,702,809
1,068,528

47,479

52,663
1,761

A1,751
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2 2
b b 12

Jin Jin o
0 Ol mior

jor 2
=
10
il
ol

0:
[

|t
>
0

—

M

40
]
[0

SN B SS(3) - HRAY - B

x
12

0l
0

= 208,918 207,175 1,743
27 Xz
2 430,537 379,627 50,910
105,478 101,547 3,931
2 77,954 74,809 3,145
ASEOHQIX
= 13,762 13,369 393
2 13,762 13,369 393
105,478 101,547 3,931
2 77,954 74,809 3,145
301 LEE AR
= 13,762 13,369 393
2 13,762 13,369 393
01 MBIEXE2H2 105,478 101,547 3,931
OZofelo 2| 1,471,357.142 = 280! 41,198 37,267 3,931
2 32,958 29,813 3,145
= 4,120 3,727 393
- 4,120 3,727 393
67,000 67.826 A826
_ 2 45,728 47,479 A1,751
OHOI = QI THE Al& K&
[ 6,030 4,680 1,350
2 15,242 15,667 A425
67,000 67,826 A826
& 45,728 47,479 A1,751
307 2I2+0I &
= 6,030 4,680 1,350
2 15,242 15,667 A425
02 QIAAMNEZE 67,000 67,826 A826
O OHOI = I THEH A& X & 67,000,0002 * 1J§4 67,000 67,826 A826
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A AE X2

X O| Al
L [=}

Ao METANLGA HEY Ol8 2S
AHOH©

CHR L Z 0ROl =X XA 2el EEED)
SH-ZFH A AH) - MIRAY - B Off &K JlEH &2

= 45,728 47,479 A1,751

[ 6,030 4,680 1,350

z 15,242 15,667 N425

2,600 4,331 A1,731

DU HEE XD N = 2,080 3,464 ~1,384

= 520 867 N347

2,600 4,331 A1,731

301 LBt = 2,080 3,464 A1,384

= 520 867 N347

01 ABIEEE2H3 2,600 4,331 A1,731

OXOMHAMEEZIRLE 81,2502 * 329 2,600 4,331 A1,731

= 2,080 3,464 A1,384

z 520 867 N34T

0N OIALSI & O B S X & 23,798 24,220 N422

201 et A 1,998 2,220 N222

01 At222|H| 1,998 2,220 N222

olger+=g4l] 828 1,050 N222

OZOHQIXtEF T XIMI=H( A A% 828,000 828 1,050 N222

202 01 H 2,250 2,500 A250

01 2U0il 2,250 2,500 A250

OX0Hel L2ZXOoHI (M2 3 2,250,000 2,250 2,500 A250

301 LLtE A S 15,950 15,500 450

10 SAtAHIEAS 15,950 15,500 450

OX0H 23HE AU S (MBS0 3 6,450,000 6,450 8,000 A1,550
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eI L
M SO MBTANGA HAY JlY S
ol FoHol =X XA BE (tol:He)
SA-EHH-SR(E) - HRAY - BYS 0l & 24 plEE" HIRE2
ZOHOIOI DAl BAEA(MESLHARZIO0IH) 40,0002 * 509! 2,000 0 2,000
307 SI2H0I & 3,600 4,000 A400
02 PIIAABE 3,600 4,000 2400
ORI HSSHATI S S LAAAZZHI IR (ME ST 0|30 AT 204
23 3,600,0009 3,600 4,000 A400
ZOHQI2 a2 AS 184,607 132,896 51,711
401 Al HIL 2Oyl 184,607 132,896 51,711
02 ALAI& A 0 9,912 £9,912
O OHOI2 5t 8 5l 5l 2HAIZ 41 Ul (M 5T 2{0] 2 0f AR 24 H) 23 8,921,002 8,921 9,912 ~991
O 04Ol 25t 5l 5l 2+l 54 K Ul (401-042 ) 2 02 - JIF 8,921,000 £8,921 0 £8,921
04 AlEH] 184, 157 120,000 64,157
OF OIS B35 2 ASALH (MYSLI OIS0 AR 247 108,000,000 108,000 120,000 A 12,000
OH OIS 58 515l 2 A% Al & HI(401-01,401-0500 A )
2% 184,157,0002 - JI= 108,000,0002 76,157 0 76,157
05 22l 0 2,484 A2, 484
OF OIS &35 2 ASZ2b (MESH MO0 AR 23 2,236,0002 2,236 2,484 ~248
O 04O 258 55 2ral S22/ Bl (401-042) 2 0% - J1F 2,236,0002 ~2,236 0 ~2,236
06 Al&=OHH] 450 500 A50
OHHOI23I B 51512 AZ AL 2N (ME 2T 20|80 AR 20H) 2 450,002 450 500 A50
343,551 335, 121 8,430
ZOIMBRRANEIA HEHH S i 245, 9% 245, 9% °
< 30,742 30,742 0
2 66,873 58,443 8,430
ZOIMHIA MLHHSUALEE 8,640 9,600 960
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Sk

X XH - T
o =

cel:

=49
=3 (Ete & P)
= A SHRI(BIH) - MTAY - B S 01l &t o 52
O&ot=EZF(AUMS2, 20 2) (2220 MSAZS220A)
1,2608 = 1,296.82= * 8 13,072 13,072
OXIILB (AL 32 (2220 MSAIE220A) 1,399,000& * 8 11,192 11,192
o223 HI (23t SAEZel0lA) 63,0002 * 13 63 63
OAdUfM=2, 28 Y FYUorA FH|(2sh220 MSAZ220A)
315& = 8,750 2,757 2,757
OUM=s2, =283 = dZotd FHHI 200& = 8,750 1,750 1,750
O[¢zl] 2,473 2,473
OARA, =24 E2Z L HSAE2Cl0AM)
823.58& * 24 * BAIZH » 200 » 37.52€ 989 989
Oozflsl& (g 220 MSAZZeloA)
823.583 * 10£ » 4AI2H * 200 A + 22,52 1,484 1,484
O[AIZ&Hl | 4,819 0 4,819
O&UNS2 & AEFXH(2t22Z D WSAIE22/0A)
4,500,000& * 14 4,500 0 4,500
OAdd B 220 MSAEZ2A) 159,500& * 2JHA * 13 319 0 319
206 M 24l 1,210 0 1,210
01 M=z Hl 1,210 0 1,210
OdUN=s2 =8+ 2 (2s2Z Hs=AE2eloA) 4,500 * 202 * 13 90 0 90
OdUN=s2 =38+ Fe (23220 MSAZ2El0A) 4,500& = 208 * 33 270 0 270
OHUHd=s2 =3E g2t MsSAE22luA) 8,500& * 50% * 23 850 0 850
401 A EHIH S| 75,894 0 75,894
02 A A& 5,894 0 5,894
Oz lgl2t AR A Al E A 70,000,000& * 8.42% 5,894 0 5,894
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SAFEOME TR
MY MY S

CelHSAS 29 (2 & )
SA-EHH-SR(E) - HRAY - BYS 0l & 24 p[E=L HIRE2

ASAL22 A2 4,500 0 4,500

206 T2 H| 4,500 0 4,500

01 WEHl 4,500 0 4,500

OSH HOESH (22 MSXANA) 9,0008 * 10X * 23| * 1574 2,700 0 2,700

OHUAZ (23220 HSXA) 9,0002 * 50F * 23| * 2 A 1,800 0 1,800

5,439,847 0 5,439,847

HEAL =5 2 689,219 0 689,219

2 4,750,628 0 4,750,628

1,000,000 0 1,000,000

NEZES2SHSMEH A 2 300,000 0 300,000

2 700,000 0 700,000

1,000,000 0 1,000,000

401 AlEHIL 201 2 300,000 0 300,000

2 700,000 0 700,000

02 &lAI& bl 439,000 0 439,000
OMSZES2SASHEH A MALHY (D2 ASUA0A)

1,000,000,0002 * 2.99% 29,900 0 29,900

7 29,900 0 29,900

OMBESSSMSHE 2B ANLSHU(ZHARE) 10,000,000,0008 * 4.091% 409, 100 0 409,100

04 Al&H 440,700 0 440,700

ONSESSSATSHE € (SSATZD MSKAWA) 247,200,000 * 14! 247,200 0 247,200

Il 247,200 0 247,200

OMSZEE2IIAMSHEH A (FIHARE) 193,500,0002 * 14! 193,500 0 193,500

05 2zl 114,000 0 114,000
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S FEEIME |2t

MU HSMNY B4
sz

Sl M S AL (Etol: &)
SN TSR (BH) - NRAY - BES 04 o pE-L" HRE2

OMNSZES25HMIHE A 2elt (222D SN 0A) 1,000,000,0002! * 1.66% 16,600 0 16,600

7 16,600 0 16,600

OUSESSSSHE A8 Zeld(ZHAQs) 10,000,000,0002 * 0.974% 97,400 0 97,400

06 Al&=ch| 6,300 0 6,300

ONSZSSHSHE A SUHH(SS 2D HINAUA) 1,000,000,0002! * 0.63% 6,300 0 6,300

= 6,300 0 6,300

Z2EE oy 1,093,553 0 1,093,553

401 Al &HIZ =Y 1,093,553 0 1,093,553

01 JIZE A& Y] 64,590 0 64,590

OZEH HXAY JZXZAEHU(SS BT MSU0A) 1,000,000,0008 * 1.49% 14,900 0 14,900

OZEHE SN ISIALAU(ZNARE) 1,000,000,0008 * 4.969% 49,690 0 49,690

03 EXHU 1,000,000 0 1,000,000

OZEHEX =3 EXNMHYL (S22 D MSXANAM) 20,2139 * 49,473.11m 1,000,000 0 1,000,000

06 Al&=ohl 28,963 0 28,963

OZEH SXAY ZFEI +42 (23422 HSNA0A) 2,000,0002 * 13| 2,000 0 2,000

OZEH HXAY ZHEI} +42(FH2E) 3,000,0002 * 13| 3,000 0 3,000

OZEH MAIANY 5 222(SAZL HSKA0HA) 4,000,0008 * 13| 4,000 0 4,000

OZEH UMY 5 222(FIHA2E) 4642559 * 43T X 19,963 0 19,963

HSAL 8x 2 3| 287,900 0 287,900

401 Al HI 2SO 262,900 0 262,900

04 Al&H| 262,900 0 262,900

OSUIMSAIZ SNUEH (S22 HSUL0A) 180,0008 * 2074 A 3,600 0 3,600

ONSZE UL IH(SSTZDL MSKAA) 360,0002 * 10744 3,600 0 3,600
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S RIS Dt
B HSAY F

S MSAE & (chel /<)
SAN-ZH-SAFA) - NRAY - BES Of &F o4 JIE Blw &2

OzHel s7U Ex(2st22n HSXJ0A) 90,000& * 307H A 2,700 0 2,700

OMEHSAIE X (222D MSX2UHA) 45,000,000 * 4002 180,000 0 180,000

OMEHSAIE EX(FINHAL2I) 36,500,000 * 20H A 73,000 0 73,000

402 RI2HHE0| A 25,000 0 25,000

01 tEEx 25,000 0 25,000

O&sS SEUASOITIIE =0l8 AUl 25,000,000& * 1JH A 25,000 0 25,000

oA HNOIEEH &£ ¥ =3I 98,015 0 98,015

401 AlEHIZ 2B 98,015 0 98,015

02 AA&EAY 4,599 0 4,599
OZMACIESE X ¢ FHEH AAEAH(2s22 2 MSXR0A)

100,000,000 * 4.599% 4,599 0 4,599

04 Al&H] 93,416 0 93,416

OZAM HOIESE &X 2 =HIFH(Sa2Z W HSX2UA) 93,416,000& = 14l 93,416 0 93,416

CX HNOIEEHE &EX 46,000 0 46,000

401 Al &HI L 2CHY| 46,000 0 46,000

03 EXI0HHI 10,000 0 10,000

OZZ HOIEZSE EXHLH(Sat2Z 0 XMSK AU A) 20,000& * 500m 10,000 0 10,000

04 Al&H] 36,000 0 36,000

OEZ JHolEE2d &X(=st22 0 MSXJ0A) 36,000,000& = 14l 36,000 0 36,000

HOIESH MEES 2,160 0 2,160

201 2er2dE| 2,160 0 2,160

02 3322944 2,160 0 2,160

OACIESHE S22 (=322 HMSXJUA) 180,000 * 12& 2,160 0 2,160

stak HOIEEE & 70,000 0 70,000
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S RIS Dt
B HSAY F

= (=)
SN SRS - NRAY - BAES LD =2

401 AIEHI S04 70,000 0 70,000

04 Al&HI 70,000 0 70,000

Ostel HOIEES FHISXMA) 70,000,000 * 14 70,000 0 70,000

,622,219 0 1,622,219

s - Hs2 2 s 389,219 0 389,219

= 1,233,000 0 1,233,000

,622,219 0 1,622,219

401 AIEHIZL S04 s 389,219 0 389,219

= ,233,000 0 1,233,000

02 & AIEAHI 26,916 0 26,916
O=2s%d - HMsz el dALAH(2st2Z2 D MSXA0A)

1,333,000,000& * 2.0192% 26,916 0 26,916

s 26,916 0 26,916

04 Al&HI ,571,148 0 1,571,148

o2s¥d =2 22 FHISXMA) 771,148,000& * 14 771,148 0 771,148

s 338, 148 0 338, 148

i 433,000 0 433,000

o2s% = M) 500,000,000& = 14 500,000 0 500,000

Oalids2 82 300,000,000& = 1CH 300,000 0 300,000

05 Zeltl 20,395 0 20,395

o2sd = S22 MSXHA0A) 1,333,000,000& * 1.53% 20,395 0 20,395

s 20,39 0 20,39

06 Al&=0Hdl 3,760 0 3,760
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S RIS Dt
HE RS

Cel MISAIL & (St ®el)
SN - SA(B) - MPAY - BES 0 k2 DIESL" HRE2

OSEE - AS A2YY SUU(SAZBD MSK0A)
1,333,000,000& * 0.28207% 3,760 0 3,760
s 3,760 0 3,760
S8 HENOESH Hcll EXISAt 20,000 0 20,000
401 AIEHI Y 204Y| 20,000 0 20,000
04 Al&HI 20,000 0 20,000
OEZ JEANOEEE M X (FIHARF) 45,2483 * 442m 20,000 0 20,000
SHSHH HE 1,000,000 0 1,000,000
401 AIEHIZ 204 1,000,000 0 1,000,000
038 EXIoHHl 1,000,000 0 1,000,000
ORMSMEH 2 EXMHAY) 41,062.72 * 24,353 1,000,000 0 1,000,000
MEZTSstw CIXECRE X 200,000 0 200,000
308 XX £ SOl 200,000 0 200,000
06 WSIIZ0HEEXZ 200,000 0 200,000
OdExSstw AIX&COFRE X 47,169.8& = 4,240m 200,000 0 200,000
589,208 0 589,208
MBS SA | 38,352 0 38,352
& 37,250 0 37,250
2 513,606 0 513,606
82,104 0 82,104
MEH SRS A O XA | 38,352 0 38,352
= 43,752 0 43,752
82,104 0 82,104
307 212t0l& l 38,352 0 38,352
2 43,752 0 43,752
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0
0
£l
o

SN SRS - NRAY - BAES 0l &k 24 017 o HlRE2
MEZXZ3 82,104 0 82,104
XNEX BiXIALS (25220 MSX0UA) 41,160,000 * 14 41,160 0 41,160
| 20,580 0 20,580
= 20,580 0 20,580
MBHSXEX HXIAME (2322 HMSX2UA) 10,290,000& * 14 10,290 0 10,290
| 5,145 0 5,145
i 5,145 0 5,145
HEns 2 (23220 MSIA0UA) 13,500,000 * 14 13,500 0 13,500
| 4,050 0 4,050
i 9,450 0 9,450
lswa (23220 MSXAA) 4,890,000& = 14l 4,890 0 4,890
| 2,445 0 2,445
i 2,445 0 2,445
dua 2I (2220 MSXA0A) 4,816,000& » 14l 4,816 0 4,816
J| 2,408 0 2,408
= 2,408 0 2,408
M2 (2220 MSX20AM) 2,632,000& * 14 2,632 0 2,632
| 1,316 0 1,316
i 1,316 0 1,316
=HSUHE 2 (2220 WSXAA0A) 4,816,000& = 14 4,816 0 4,816
J| 2,408 0 2,408
i 2,408 0 2,408
st XN& 77,890 0 77,890
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S EQME R A
I HFANY I
CIS NSNS S EEE-E))
SN EB - SA(SH) - MBAY - BES 0l & 24 p/E-L0 BlRnE2
307 BI2H0I & 2 182,000 0 182,000
04 QIIBARE 219,250 0 219,250
OM203| TOMEHSUE HIHDI2ZD MSKA0A) 31,500,0008 * 13| 31,500 0 31,500
ORI3E| MetdE 24 MENSUHS (222D HSKAUAM) 6.750,0008 * 13 6,750 0 6,750
OM3s ML EHE2AMBRSUHS (ZINARE) AR 7,500,0008 - JI& 6,750,000 750 0 750
OZ2t HISH3 (2522 MSTA) 4,500,0008! * 13 4,500 0 4,500
O24b BISH3 (A 2%2) AR 5,000,000 - JI& 4,500,000 500 0 500
ONHOIEZ eI 22D MESXAMA) 850,0002 * 23| 1,700 0 1,700
ONMOIES Wl &INENARE) 2 3,000,0008 - JI& 1,700,000 1,300 0 1,300
OF= NEL S (222D HSNAWA) 5,200,0008! * 13 5,200 0 5,200
O NSRS ML (FHARE) 23 6,000,000 - JI & 5,200,0008 800 0 800
ORM163 Mt ZoHel Sl AIHSSH2ZD MSKAAM) 9,000,000& * 13 9,000 0 9,000
ORM163 Mt ZoHel MSHal HIHFHARE) 2= 10,000,0002 - JI & 9,000,000 1,000 0 1,000
OFIAA Zhs WA (HZEDR 0F2) (222D HSKA0A)
54,000,0002 * 14! 54,000 0 54,000
ODSAIY 24t SLHS (S22 WSKAWA) 2,250,0008 * 13| 2,250 0 2,250
ODNSAY 24 2T (FHARE) AR 5,000,0008 - JI& 2,250,000 2,750 0 2,750
O248) SRS (222D WSKNA) 2,250,0008 * 13| 2,250 0 2,250
OZ4t) SR8 (ZHL0= AR 5,000,0008 - J& 2,250,000 2,750 0 2,750
O+ U (S22 MSKA) 2,250,0008 * 13| 2,250 0 2,250
O2%H) U3 (FHAR2) A 5,000,000 - JI& 2,250,000 2,750 0 2,750
O24t HEQE S (S22 D MSKA0A) 2,250,0008 * 13| 2,250 0 2,250
O24H SQE S (FHAR) AR 5,000,000 - JI & 2,250,000 2,750 0 2,750
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M=
MR A

e deHs =4 (=)

SN HE L SR(SIH) - MBAY - BAS 0l &k 24 o1& o HlnE2

Ot i3 (2at22 2 MSXA0A) 2,250,000 = 13l 2,250 0 2,250

OZ==th tHRUS(FIL2F) 2 & 5,000,000& - J|1& 2,250,000 2,750 0 2,750

O==tl EFRUs (23220 MSX20UAM) 2,250,000& * 13 2,250 0 2,250

Ozt ERUS (FILA2) 4d3F 5,000,000& - 218 2,250,000& 2,750 0 2,750

Ot HOoIEESUHI (2322 MSXUA) 2,250,000& * 12/ 2,250 0 2,250

OZ2=t HOIESUHE (FIALRE) 2 & 5,000,000& - & 2,250,000& 2,750 0 2,750

Ot AZ<ellita(2st2Z 0 MU A) 2,250,000 * 13| 2,250 0 2,250

OZ4=tl AL LeDIUa(FNAL2) Z& 5,000,000& - J1& 2,250,000& 2,750 0 2,750

Ozt SEZUs (2322 MSX20AM) 2,250,000& * 13l 2,250 0 2,250

Ozt SEUS(FILA2E) Z2& 5,000,000& - 2,250,000& 2,750 0 2,750

OHN23l HMetad S XA A= el Hiial 10,000,000& * 13 10,000 0 10,000

OHNetad S XA =S 10,000,000& * 13 10,000 0 10,000

OHM203 Sl &M =3 &t 5,000,000& * 12| 5,000 0 5,000

= 5,000 0 5,000

OHMgsl d=H=sUz SE2EAMY 6,450,000% * 54 32,250 0 32,250

< 32,250 0 32,250

SOMA X2 209,964 0 209,964

301 LBtBAZ3 120,111 0 120, 111

11 =t - 2SRE2L3 85,111 0 85,111

OZUE 2N+ Fdd-a0 (222D MSXANA) 85,111,000 * 14 85,111 0 85,111

12 JIEt24 3 35,000 0 35,000

OZ2IMSUa &It AIZ5S CHEIE (55014 LAES) (2322 MSAAUHAM)
20,000,000& * 14 20,000 0 20,000
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SNFOME XA
Y HNRAHH (FUMSXRAD)
CHe D[ =AY (el &)
A -3 -H2A(SH) - HEAMY - BES Off &K ) = e Hlns2t
SSXASE JI2AY| 15,174 16,860 N1,686
201 LLrE A 7,704 8,560 N856
01 At222|H| 7,704 8,560 A 856
Oolger424|] 3,024 3,360 A336
ORNSYSUHA (MBSO AHE2ZH) 33X 3,024,0002 3,024 3,360 1336
Ol=2ul] 4,680 5,200 N520
ORNSEESUAHN(MESEHOIM AIE 2 NH) 28 2,430,000 2,430 2,700 A270
OSXNHAX SSEEAMEHC SHH (MO AIZ2ZH) 3 2,250,000 2,250 2,500 A250
202 01 H| 7,470 8,300 A830
01 2U0il 7,470 8,300 A830
SNREESUAH A (MY SO A2 H) 33X 3,970,000 3,970 4,800 A830
HMEX =R 11,718 0 11,718
201 282 A 4,968 0 4,968
01 At222|H| 4,968 0 4,968
olger+=g4l] 2,268 0 2,268
ORNRY SUNHA (222D MSXAMA) 2,268,0002 * 14! 2,268 0 2,268
Ola2l] 2,700 0 2,700
ORANRY SUAHA(2F2Z D HMSXAUA) 4,50020 = 301 x 200 2,700 0 2,700
202 01 H 6,750 0 6,750
01 2U0idl 6,750 0 6,750
SN2Y SUNHAH(22Z N MSXAMA) 4,050,0008 * 14l 4,050 0 4,050
O L2 SHHI(232ZD MSX0A) 18,0002 * 321 » 50 2,700 0 2,700
HMESAL2R JI23 17,606 0 17,606
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PSP
FH MY 2IGH|(FOMEX D)
che |22 4l (Cte M)

SN B SR(BH) - NRAY - BES 03] & o ol 3o HRS2

201 Zer2g 14,006 0 14,006
01 At=2teldl 14,006 0 14,006
Olger==84l] 1,780 0 1,780
ORN2ISUNM(2a22 DS AIE2t2I0A) 1,780,000% 14! 1,780 0 1,780
Oolzg=+¢] 10,476 0 10,476
O+ (2ot22n MISAILZCI0A) 30,000 * 54.4& 1,632 0 1,632
OLH+L(FHARE) 10,000& * 54.4& 544 0 544
O (23220 MSAIE22l0A) 30,000& = 207.5¢ 6,225 0 6,225
O=A+Z(FHAR=2) 10,0008 = 207.5¢ 2,075 0 2,075
OlZ2l] 1,750 0 1,750
OFHSYSANY (2SR HSALBRINA) 1,750,000 * 141 1,750 0 1,750

202 OfHl 3,600 0 3,600
01 2UWobl 3,600 0 3,600
SEA2LSUN (222D MSAL22/0A) 3,600,000 = 14 3,600 0 3,600
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